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   sin  
 이므로 

 라플라스 변환은 다음과 같다.
ℒ  ℒsin 

 
 ℒcos 

   
 

 



 




 
    sin 

 sin 

 이므로 라플라스 변환은 다음과 같다,
 ℒ sin  

  



 
 

 

P148. 04

   sin 이므로 
 라플라스 변환은 다음과 같다.
 ℒsin 
  




 

 

 

    
 이므로 라플라스 변환은 다음과 같다.
 ℒ 

  



 


 


